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slote;  There are THRER Seetions of this Paper e, AR and C. attempt each according to the given instructions.

Time: 20 Minutes SECTIO-A"

Max: Marks: 85

Marks; 18

Nate: Ancmpt all parts of Section — A. Section —A must be return o the supermte.ndcnt after 20 minutes
éven if you have not attempted any question. Overwriting/ defacing/Cutting etc is prohibited in

Section-A and no credit will be given to such answer,
I . Write the correct option i.e, A/B/C/D In the empty boxes,
i, The number of facial bone in human are

(A) 14 (B)28 €)% (D) 12
ii. refers to pain, weakness, numbress or Tingling in the leg .
(A) Spondylosis {B} Scintica T (C) Arthritis {D) None of them,

iii.  What does not happen during. inspitaton ioman ___ .
{A) Ribs move forward  (B) Diaphragm becores dome-shaped

(C).Ribs are elevated (D) Intercostals nuseh:s contract

iv. The most imponan: harmone in nitiating and maintaing tactation after binh is

{A) Gxytacin (B) Prolactin {C}FSH (D) Lstrogen
“. The most toxic melabolites in the blood (s the origin of which type molecule .
(A) Fas {Bj Carbchydraty (C) Pralein (D)Nucleic acid
vi. Hypercaiecenia is mainly vauses due lo over'secretion of .
{A) Adrenaline {B) Nor-Adrenaiing {Q) Glucagon (D} Parathormone
vit.  The disorder in which bones arc porous and thin bul'sormal composition is . : .
{A). Osteomalocia {B) Os;eoparas.is (L) Rickets {12) Arthritis i
viii: Restmg membrance potential of neuron is _ .
(A} -90 my ) {B)y -60 mv {CY-7mv (D) -80 mv
Ix. Kidneyreceive %% of blood coming from heart .
(A) 20 {B)30 o (CyaD : (D) 25
X. o receptor receive the stimuius ol pain . - ' _
(A) Mociceptor (B) Thermereceptor () Mechanorgeeptor (D) Chemoreeeptor
xi. : __resuits i abnormai thickness of banes. ‘
{A) Mi¢rocephaly (B) Acromepaly (C) Here-lip (D) Arthritls. -
xH. The measurement of human embryo {from head to buttocks) is known as
{A) Crown-Rump measurcinend (B) Rough measurement
' (C) Correct measurement o (D) Approximale measurement

xiii. The number of spinal nerves in human are ___

(A) 31 ) 12 e @

Kiv. Myoglobin has a special function in muscle

{A) It breaks down plycopen ([3) il holds a reserve supplx ofoxygen in the muscle

{C} 1t is contractile protein (D) None of these
xv. HBYV vaccines are . vacgines, -
{A) Live (B) Killed (C} Subunit (D) Toxoid
xvi, Culturing of the cells for their re-aggregation to form a tissue-like structure represent cuiture .
{A) Orgun {8) Hlm.{\pu. {C)Orpanotypic (D) cell
xavil. The cause of stone cancer is .
{A) Global warming (B) Acid rain {C) Czonz layer  (I7) Green house

xviii. Permanent removal of standing forest is

(A) Forestation iRY Deforestation {C) Reforestation (D) All of these
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Note: 'Timé sllowed for s.zeiva B and Cis ‘2.h0urs and 40 minutes. -.'n.
: SECTIGN “g? ‘ "~ Marks: 40
IL Attempt any TEN Parts out of 6., tolfuning. Each Part carries equal marks.
i. . Differentiate between Osmoconfermers and Osmaregulators?.
i, Differ.cmiaté between Osteablasts and Osteocytes?
iil. “What are the causes of Kidﬁey stones? -
iv.  What is biological clock? _ T
V.. Describe. the structure of a 1@*pical"neuron? ' |
7 Wlmt-.is the Endmymbio’éis view of Eukaryotic origii}'—? |
~vii,  Briefly describe Hyperthyroidism and Hypothyroidism?
viil.  Briefly describe placentation in human, .
ix. Describe the causes and risk factors of pneumonia?
X. ..Differe.ntiatc between sympatricand atlopatric speciation?
’ xi.  What are the five major canses of evaldtion ac;cepted by the Modern theory?
i, Write down the steps of Nifrification?
© xiii, What are restriction endonucleases?
SECTION “C" '  Marks: 27

Note: Attempt any THREE questions of the following. Each question earries equal Marks,

-

1., Elaborate Meselson and stahl to justify the semi-conservative rcpiica.tion as a correct mode! of
replication. _ - T o
Iv. Give a detatled account of development of human embryo.
V. Whatis sex-linkage? Give s gi’e‘téilgd account on sex-linkage in Drosophila?
VI | Write a note oh any two of the foliowing.
(8) Meﬂdal;s' law of segregation

(b) Formation of Recombinant DNA
(c) Gene therapy



